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SN R
M oIEA(AL)
Sl RIRZA Y BM=X AW (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 2,700 2,700 0
OXMZH FUXXHUE &S WFH
2,700,000& 2,700
sclgtEEs A& 102,650 102,650 0
301 et d=s 102,650 102,650 0
05 S& -0 -EtEEs2E 102,650 102,650 0
oo+ 98,400
Il 200,000& = 30 » 123 72,000
-&03 200,000& = 30Y « 23] 12,000
-3 o & A4
20,000& = 30Y = 23| » 12& 14,400
OFIPSEpa =, 50,0008 = 85% = 12l 4,250
AsgE XA 9,580 8,820 760
301 et a3z 9,580 8,820 760
04 A2 LHUHAHXA 9,580 8,820 760
OXsLEHUAH XA 9,580
-0F A H 3,000% = 4H » 1JHOH » 365 4,380
-2 & thghy] 100,000& = 1OHCH = 12& 1,200
-X+& K Xl 4,000,000& =« 1CH 4,000
SSAE |2 106,349 113,832 AT,483
101 124 dl 6,900 5,403 1,497
04 JIZHHZ2XREES 6,900 5,403 1,497
OAIIXIEHl & S A2 AFY 6,900
=0 48,2403 * 198 = 130 6,272
-ALRIE™ DR E 3 6,272,000 = 10% 628
201 et 71,889 68,269 3,620
01 At 22l 6,150 2,580 3,570
O&JIetH A el 500,000& = 23| 1,000
OFNXIME AYBSHURY +42
700,000& = 13l 700
OFQNIME AYREISHY 248
500,000& = 13l 500
OFQUXXIHE Zd2tEr X
150,000& * 9Kt 1,350
OHEA & FOUXNXMEH A3 7L
30,0003 = 2204 660
OFAL & 0232 H=0] 7
10,0002 * 504 500
O&=J| &l 1,440
-EA Y FOXNXME H=2]
30,0003 = 404 « 12& 1,440
02 2324l 65,739 65,689 50
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SN Ao
M o= AN(RYD)
Sl RIRZA Y BM=X AW CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
03323 % HMA 34,964
-8 Y LEQ3(HA Y FOXXMAH)
2,160,000& = 12& 25,920
M3 L FAXRZS 150,000& * 12& 1,800
-FOURNXME 2HY 22 40,0003 * 12& 480
—NSAES 23 450,000 = 12& 5,400
—RAYS AEE 22,000& = 12& 264
—SENLHRE S 100,000& * 23] 200
-grgt2tel A & 2l &yl 100,000& * 13 100
“EAF Y FOUNXNMEH S St A
350,000& * 23] 700
-2 LHO3E sIH(E2]) BEIY
100,000& * 13 100
(@)%K=2:] 9,240
-t 24| 11,000& * 8AlIZ2F * 105 9,240
OAI& &Yl KX Hl| 15,830
-AE2S XYl (1,109m") 2,000,000 2,000
- FOl %2 ¥ Y 100,000& * 504 500
-HASZE 270,000 * 390 A~ 10,530
-H&E&d |X2e 100,000& = 28CH 2,800
OXdtE =2H=2l 3,000
-Note =32H =2l 3,000,000& 3,000
(@PNE=FaR=la:] 2,705
-~ Y32 2,605,000& * 10CH 2,605
-AEFHAI =S 100,000 * 1CH * 13 100
307 QI2t0| ™ 5,160 5,160 0
05 A2t E 2 5,160 5,160 0
ORQABA AL (HAF & FOXXIAE)
430,000 = 12& 5,160
401 AIEHIL 20| 4,000 35,000 A 31,000
01 A& Hl 4,000 35,000 A 31,000
OFQUXNXHE ASYHXNSA L HAHES=3A
4,000,000& * 14 4,000
405 XHo&HF S HI 18,400 0 18,400
01 AL =SB F SHI 18,400 0 18,400
OH d#HAIE &8 ! 320,000& = 2004 6,400
OH HAIS 2t0IEX 2 120,000& * 10094 12,000
SHARDAYFT (/L) 213,972 180,735 33,237
AR 2AIEFE 213,972 180,735 33,237
ARNE ¥ ARASAS 208,972 175,735 33,237
401 Al HI L 2T 208,972 175,735 33,237
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SA A

HFH: SHAARAMGZFA(LH)
EHel: AR SAMGEFA (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 195,000 162,000 33,000
OO0ts2e] OFAZ M RIS A 15,000, 000& 15,000
OotE1el o= & HlS At 30,000,000& 30,000
Odtgeel Ot ZH I A 15,000, 000& 15,000
=322l =2 =2IHS A 20,000,000& 20,000
OB&822 s EHIA 15,000, 000& 15,000
O&kel s LTS A 40,000,000 40,000
OE2d HM=&d 10,000, 000& 10,000
OE2 S ANE RXNE=H| 50,000, 000& 50,000
03 Al 20 HI 13,972 13,735 237
OAnl o= =& 20yl
135,000,000& * 0.72% 972
Otz ¥ 5t& HYXtE 10,000,000 10,000
OM4&ZEH Xtz 3,000,000& 3,000
Z2Z I8 MY 5,000 5,000 0
206 M= Hl 4,000 4,500 A 500
01 MHZ 4l 4,000 4,500 A 500
OZZL X EANY 2 4,000
g8l & HZ 4,000,000& 4,000
401 Al Bl 28I 1,000 500 500
03 AIE 2 0H bl 1,000 500 500
OXZxd FHgx= 1,000,000 1,000
HE2IZH(ALH) 101,077 94,969 6,108
Jl2dd(dgd) 101,077 94,969 6,108
JlE2&l 101,077 94,969 6,108
201 L2l 47,077 49,069 AN 1,992
01 At 22l 35,680 36,970 A 1,290
Oget=&H| 5,100,000 5,100
O=&Hl 3,960,000 3,960
Oog =8 ¢ 18,060, 000& 18,060
OHTEHHALZE A4 8,560
“ZZeHD 3,000
- EY 300,000 = 1CH * 48 = 23| 2,400
-E™ 300,000& = 104 = 23| 600
-2dutTelE | 200,000& = 1004 = 23l 4,000
-SAI (EH
200,000& * 20H = 33| 1,200
-FAX 120,000& = 104 = 33l 360
02 =224l 11,397 12,099 AT02
033232 % HA(2ER2) 8,800,000 8,800
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SA A

[sgy= Jrwi)

B #NARY (ALD)
S D2 (agH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O#HHEH S EEHl 2,597
-CIIs A1 1,300,000& * 1700 * 5% 1,105
T 2lE D] 4,000,000& * 11CH * 2% 880
-= AHD| 15,000,000& * 2CH * 2% 600
-FAX 600,000 = 1CH * 2% 12
202 04 b] 40,500 32,400 8,100
02 AN Y| 40,500 32,400 8,100
OEMAHYI 225,000 = 159 * 12& 40,500
203 PR =&Y| 10,200 10,200 0
01 J|2A2F PR =&Y 6,600 6,600 0
OHE 550,000& = 12& 6,600
02 R R = XY 600 600 0
OZ&S A& 2 A Y| 40,000& * 15Y 600
04 ENSIHRF=EY| 3,000 3,000 0
ORNS2gIRF&Y| 250,000& = 12& 3,000
405 XHoHF SHI 3,300 3,300 0
01 At = S F SHI 3,300 3,300 0
OIIsAMRIND X A 2
1,000,000& = 1CH 1,000
ORLUH A ¢ 300,000& * 3CH 900
OdiolHEZ2IHD| a7 2
1,400,000& = 1CH 1,400
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